TERF

ENAIERARESEI / GEAR UNIT SELECTION & ANNOUNCEMENTS
5ixBEXERIEE/Base concepts of precision planetary gear boxes

UEEHAE
Tan[Nm]

pIvES vl
[Nm]

ERIantHE
[Nm]

HIHE
Tor2[Nm]

RAMHIAE
Tae

SCRRARAE S
T2[Nm]

HEERE
Teo[Nm]

MHTHAE
[Nm]

E:obal
Fa[N]

7&eh
FriN]

AR PR,
R

RERY
S

ERRH
fi

THERIECa
[Nm/Arcmin]

RENE
[Nm]

Special Notice
ERIER

07

Tan[Nm]BGERARESE) (ELETIER ) ATLUNEANNE ( BER ) | SHMEERENS  R2RY
S=1,FPG160/FAB142LITHIE , EigEw920000/\dT : FABL18OLA AR L Ea7/910000/\ET : Th{EESF
ISODP6336U 4 HRAE SISO 28 Lt FinitE,

FETAFEEIE/ N D F L000R AT SV ARRT B NEEV M tHIRAOR A 05E, TAFREHEAE\ITAT 10000 , 705 B EEE.
DA R R TIFHBER A — MRAE | SERRERPAIDEIBL VN T, BRI AT AB.

SRR HIRFTAEINEABATIIAE | X ANIERIERIENE S HIPIANERL000R - LIREERIT10000R, ( &iE : FPG160
JFAB142L  FHES A Tonor=2+T2s  FAB180LA EHNEL A Toror=1.5¢T2s)

FENEERERA ERLSeRR RS BRI 1180 F05E,
TEREN RS R SRR B R TATRERZAMHIANE | ERIEEEREEEMRE.

FrtHAEEUR T RIS AISEIR T | USRIEA AOSUEBAR T v A FIXMEAE,

SRR, RILABSCRRATREAETANRES  RATARBH To=T i<y
IR NFIREERTRHREA LERAZHRIE. BHEARA | Mams=[Faty2+Fri(Xz+Z2)]/1000

RIEFHTTHON— , BAFRRSRMHARE—EHERE (Y2) i, SR— M EUNMISHRIE, HMEogidh
AFRAEEER | BT RIS,

EEEFRTHAANN—N , EHTTRLE , SREFRRSHRE—EMEES (X)) . XTRE—MIFR , #E3
DR E%IIE.

BERREAMINRIE R s EAVERETREEA. MRRERAREAEIRE T Y RIR I ERER.
PR ARAHNRARIHERISERTRINSEERE MRHndm (017204 ) 897, SERATERRE , Ml
IS | AFRRABFTEA ; BR , (FRAREMEHE , AFREHTHE.

RERYET HENASERA DR SBH R E.
{EFRFRSEIUAEN IR FRIE | BEREIRENGRESETSH T8,

ERINEDAERNRTF=E RSS2 IBIRILLESRE N, Cor=2T/- EiBIRERS AN IES Stttz —Ns. HERIE
ENRHHZSH. EHZ%E ERFBERETs950%F]100%XEE |, FEXSEER , LT ERE—REL.

RIEA AR FBAN SIRIE G R (NSRBI ER ) | MRAIEER, BIERNBERFRTMRE

You can only refer to the input terminal dimension given in this book,special dimension is depend on the shaft
extension terminal of chosen motor,practical object’ s dimension will be difference with these in book,the
practical is depend on the finished product,the output terminal dimension is according to these given in this
book if not sign.

The weight of reduce motor given in this book is approximation,the practical is depend on the finished product.
FBALNFMERENBMANRRINMSE | BRI HERBIAMERRTRE , BUSYWNERT SAFMEME
5, REATWERREREE  ERERHRHERS TRENARHIRR I LAAB i,
APEERFRERENERDIME | SSRERUSSYAME. BPERZNEBERIR.

FAB

SERIES




RSB / MODEL ILLUMINATE REEREEEEL / GEAR BOX PERFORMANCE INFORMATION
[ mm m#H | mmw | 2 | i | e |liens | weve || s |
3 342 588 1,140
4 140 290 542 1,050 1,700
5 22 eo 160 330 650 1,200 2,000
1 6 20 55 150 310 600 1,100 1,900
7 19 35 140 300 550 1,100 1,800
8 17 35 120 260 500 1,000 1,600
= - - 10 14 23 48 140 370 520 1,220
FAB090 10 | | s2 | B / B . 142 de M0 a0 5a0 1220
. ! ook ' 15 20 55 130 208 342 588 1,140
[ R I S BEME NIE Ty Nm 20 19 50 140 290 542 1,050 1,700
] i ] 1 25 22 60 160 330 650 1,200 2,000
T O] i ] 30 22 60 160 330 650 1'588 g,ggg
Rz Ll g SRPEE - ST ¢ | ] N | 35 22 60 160 330 650 .
 FABO42/FABOGO/ FABOSO [ R - 51:1F,§E$$ - s - ; 2 40 22 60 160 330 650 1,200 2,000
1 b S2:HEER L DABHERES i 50 22 60 160 330 650 1,200 2,000
1 FAB115/FAB142/FABT80/FAB220 P ] ' 60 20 55 150 310 600 1100 1900
1 L e i 70 19 35 140 300 550 1,100 1,800
”””””””””””””””””””” e 80 17 35 120 260 500 1,000 1,600
; ! 100 14 23 48 140 370 520 1,220
SNt - | BRI AT, Nm 1,2 3~100 SfERERH NE
' [ ' FEMNGEE o rpm 1,2 3~100 5,000 5000 4,000 4,000 3,000 3000 2,000
| kL - E4%(L1):3,4,5,6,7, 8,10 Lo B PO : BAEEEE ' BAMANGEE, rpm 1f %ﬁ? 10000 10,000 2$ &ﬁo TT aﬁo @w
: | R8R(12):12,15,20, 25 30,35,40,50,60,70,80,100 | | ebirlsla : HIREHR PO aemin 2 42-100 = = = <3 <3 <3 <3
‘ WK (L2):12,15, 20, 35,40,50,60,70,80,100 | P2 : tRAERS ‘ ' 1 3~10 <3 <3 <3 <3 <3 <3 <3
1 P EHMR P1 Acin 12100 <5 <5 <5 <5 <5 <5 <5
Rttt ! e U = vi e s : 1 3~10 <5 <5 <5 <5 <5 <5 <5
(ST B aremin 2 12~100 <7 <7 <7 <7 <7 <7 <7
S EE ST LRI Nm/arcmin 1,2 3~100 3 7 14 25 50 145 225
EREH: FAB090-10-S2-P2 / MHMD-082G1U BEEEN F,o N 1,2 3~100 780 1,530 3250 6,700 9,400 14,500 50,000
AW Fo N 1,2 3~100 350 630 1,300 3000 4,000 6,200 35000
FEEN o’ N 1,2 3~100 390 765 1625 3350 4700 7,250 25000
ER%EH hr 1,2 3~100 20,000 %
. 1 3~10 297%
2l % 2 12~100 >94%
== . 1 3~10 0.5 1.3 3.7 7.8 14.5 29 48
- 2 12~100 0.8 1.9 4.1 9 17.5 33 60
ERRE © 1,2 3~100 -10°C~+90°C
o 1,2 3~100 A Ri9iEHAE
DA 1,2 3~100 IP65
REHE 1,2 3~100 EEHE
#fH (n,=3000rpm) dB 1,2 3~100 <56 <58 <60 <63 <65 <67 <70

R Mﬁ'ﬁﬂm%

3 9.21 28.98 69.61

4 0.03 0.14 0.48 2.74 7.54 23.67 54.37

o) 0.03 0.13 0.47 2.71 7.42 23.29 53.27

1 6 0.03 0.13 0.45 2.65 7.25 22.75 51.72

7 0.03 0.13 0.45 2.62 7.14 22.48 50.97

8 0.03 0.13 0.44 2.58 7.07 22.59 50.84

10 0.03 0.13 0.44 2.57 7.03 22.51 50.56

12 0.03 0.03 0.13 0.47 274 7.42 23.29

15 0.03 0.03 0.13 0.47 2.71 7.42 23.29

EHRE J, kg - cm’ 20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
25 0.03 0.03 0.13 0.47 2.71 7.42 23.29

30 0.03 0.03 0.13 0.47 2.71 7.42 23.29

35 0.03 0.03 0.13 0.47 2.71 7.42 23.29

2 40 0.03 0.03 0.13 0.47 2.71 7.42 23.29

50 0.03 0.03 0.13 0.44 2.57 7.03 22.51

60 0.03 0.03 0.13 0.44 2.57 7.03 22.51

70 0.03 0.03 0.13 0.44 2.57 7.03 22.51

80 0.03 0.03 0.13 0.44 2.57 7.03 22.51

100 0.03 0.03 0.13 0.44 2.57 7.03 22.51

1. BE EE( =N,/ N,,) 2. A% 100 rpm B, (EA T d R OAE .

* EEEREREREG =52 —.

09 10



FAsE)

AE AL Z BT ERDREED 9MEZRTEZ / OUTLINE DIMENSION SHEET

REDUCER OUTPUT SHAFT OF THE PERMISSIBLE RADIAL FORCE AND SHAFT AND FORCE
FAB-042-L1

BN/ INPUT HitHiH/OUTPUT
915
Fasz Fao BORME AT R R Z I R AR R A RME T, HE AL 2 % 655
R &, BRI A K R bR R K R IR T, 195 4
HEERZEARE R RIE . =
BEA = (T . o T jijj '_
[ | @)
F, &E5N — 8 B i A T i s T %{%
F,, 4[5 51 ._ & 10| 35
— 1|

‘ ‘ 4-M4x10 " s 2

BHEBEAF,,[N] AT OIE
42 5 7IF, 8 F e

100,000 FEIX=1/2xLE}, FRIMEZ
60000 SR T 6t 5
40:000 % 420, 000hr ™ B, FAB-042-L.2
5000 =SEN FAB220 FiReREZ BN RE N,

. WEREE MEREZEN

10,000 BB, B FNIR/ INPUT i@ttt/ OUTPUT
6,000 s FABTE0 Foas=0.2 X Fyq 119

" FAB142 _
4,000 B ~ FABI1S Fous=0.1X Fy 19255 - 9
2,000 = j“ S ‘ t
T T—_/ FAB09% - In) =
1,000 S b 16 L 19 s
T FAB0G [ | @)
\\\‘~~-\ FAB042 & = - — + — T 377%{3
300 8 - T8 8
10 20 40 60 100 200 400 600 1000 2000 10 35
Syt S n, [ rpm ] — D [0
4—35 30

LB T R K,
EATTRE k, YR NF,MEN R D
15 £ B W, 4 5 3 8L E 4L ED
14} - X<1/2xL, FiiRE 2 BEE
13 61 25 K, AT B RLE LB
12 \. FABOGO X>1/2xLY, B4k e 2 i
11 FABOSO ERANTN, FHEE, & 2
1.0 \ FAB115 R HAR R AR 18 9 B L M4x0.7P
gi \) 4 FAB142 EX, B A E S REK, * 2
07 NN FABI80 BRATIAR, KEEH Eﬂ
06 TNV FAB220 =mn:
05 VNN FauKD X Fg
04 I Ry N g e s
03 ST T =TT Flau=02xFly WA St AR S2

0 40 80 120 160 200 240 280 320 360 400 Fp0s=0.1 X Flyg

FEERAEAGEX[mm] “ADRERRZ R, TRBEAERAMEN.

*The input motor specific dimensions could be customised.

*EERBREAFG =42 —.



SMEERTEZ / OUTLINE DIMENSION SHEET

ENIR/INPUT iR/ OUTPUT

5 gl &
g 5 &
o6
FAB-060-L2
N/ INPUT iR /OUTPUT
o)
a7 c8
o7 285 6
-
- in '——
b 25 ! 1%
O
5 I IR IR N N B I~ -
g T~ 1 [ ,,,,J,,JB
6

M5x0.8P

N I I

070 4-M4x10, 4-M5x12 G11014 34 @50 115
) FAB-060-L1
AN 1 R 52 @90 4-M5x12,4-Méx12 @19 44 ©70 5 so 88 125

FAB-060-L2 @70 4-M4x10,4-M5x12 @11,014 34 @50 5 60 105 142

* Cl~CTRABIREDIRIER R R, AIRIEE R 2R EIREM.
* C1~C7are motor(metric standard) specific dimensions, which could be customised.

SM2RTEIZ / OUTLINE DIMENSION SHEET

NI/ INPUT co iRHER/OUTPUT
48 c8
4 365 8 0
™ l—
B 32 v &
O
; s
6 5
I I_
D L]
c10
c4
FAB-090-L.2
SN/ INPUT fiHis/OUTPUT
09
48 c8
36.5 8 90
D) — o
B 32 &
A
~ r O
Sl = — RS
oé L»’ul Oy O
1o | . 6 %
1.5 1
10 c10
c4

x12 , 4-Méx12 @19 @70 147
2100 4-Méx12 216 44 @80
FAB-090-L1 @115 4-M8x20 19222 50 @95 100 105 153 13
@115 4-M8x25 19,022 60 @95 100 115 163 23

7 9 99 147 7

7

8
2145 4-M8x25 219,022,024 60 ©110 8 130 115 163 23

5

5

5

@70 4-M4x10, 4-M5x12  @11,014 34 @50 60 115 163 5.5
1 1)
AR 1 A= s2 FAB-090-L2 @90 4-M5x12 , 4-M6x12 @19 44 @70 80 125 173 165
@100 4-M6x12 216 385 @80 86 119.5167.5 10
* Cl~CTRAHINRESIRERRZ R pIRE S FERRIRE .

* C1~C7are motor(metric standard) specific dimensions, which could be customised,



SMEZR~TE / OUTLINE DIMENSION SHEET SMEZR~TEZ / OUTLINE DIMENSION SHEET

EINIR/INPUT o #idiis/ OUTPUT NG/ INPUT o Hthi%/OUTPUT
65 c8 97 c8
51 0 9 2
™ ™
U 5 65 v L;
g 4 et %I 2 s HF= M+ ——H— 1t &S
s 3y S = L)—-“‘—V O O
c6
2|2 i c6 %] 3.0 -
g — [
12 _Asl c10
1c10]
c4 c4
FAB-115-L2 FAB-142-L.2
BAIR/ INPUT Hti% /OUTPUT BAiR/ INPUT C IHHIH/OUTPUT
c9 97 c8
65 c8 [ovd 9 iz
51 0 N
T % 5 > 1]
S ° —O
i ol 5 g D H—— - 188
e — ——H—tHE & ©
= a8 & 36 3 &
[of] sl 1T
28_|2 [ ] i LT
[ D T
—— c10 c2 sl c19)
i . c4
c4
472 /Output Diameter
1009
M12x1.75P
ol
@ [ R+ lorl o2 | 3 loel o5 loslcr] caloo ool (D
m @145  4-M8x25 019,022,024 65 ©110 11 130 135 200 20
FABLLSLL oo 4-M12x28 @35  805@1143 6 180 150.5215.536.5 240
@90 4-M5x12,4-M6x12 @19 4 @70 7 90 148 213 8 FAB142.11 @145  4-M8x25 022024 675 @110 7 142 1495 2465 145
MBAISL2ONS 4B 1G22 S0 0% 7 10 1s4 29 1 S ) TR N A N e
B S1 AKX s2 al ~Viox . AR S1 AR, S2 N
Q115 4-M8x25 219022 60 ©95 8 100 164 229 23 || GBS | glapmaes | G5 | B0 | W | V) &0 | &) A
@145 4-M8x25 019,022,024 60 @110 8 130 164 229 23 2200 4-M12x28 235 805 @1143 6 180 2055 3025 36.5

* Cl~CTRARIREDIAER R R AT RIES P 2R EME M.
*C1l~C7are motor(metric standard) specific dimensions, which could be customised,

* Cl~CTRABIWREDRERRZ R AIRIE S PR PIRE M.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

SUNCARVE 16



SMEERTEZ / OUTLINE DIMENSION SHEET

HIAIH/INPUT 287 i/ OUTPUT
105 182
82 _5
(1 DV
[ — O
= [ — 5 8
I D -
42 | 3 I ’
I D
t
4-M12x30 2 L8 |
FAB-180-L2
BN/ INPUT iR /OUTPUT
337
105 232
8 5
R _—
b0
o — QU g
g o4 ——t+ 1 g»tl 2
8 S5
42 3 I 8
| D,
I —
4-M12x23 2 130
83

i tH#h72/Output Diameter

M20x2.5P

HAK s1 1 Y]

N DIRERRZ R, ARIBE AR BIE M.

*The input motor specific dimensions could be customised.

SMEERTEZ / OUTLINE DIMENSION SHEET

N/ INPUT 364.5 EHIR/OUTPUT
138 226.5
105 o
% D
& —re==m\ ] HEEE]
R e N e I
[S] ~ [S] P>
2.3 . ;
| D I
T
4-M12x30 0 120
FAB-220-L2
N/ INPUT EHIR/OUTPUT
415
138 277
05 ___po
NN
)
N ; I O 5
8| F—— RN O N N pa ' %t 2
S ’*"‘T S =
7
213
[ li
| )
I
30 85
472 /Output Diameter
20n9
M20x2.5P

795
|

AR 1 A s2

MADIBERIRZ R, AREEFERAIMEM.
*The input motor specific dimensions could be customised.

18



Bix% %508 / MOTOR INSTALLATION INSTRUCTIONS

O B2 REAPHEEMR B,

© aEUTEk EREZ R
bInERE , ERETER.

O BEEHERADIE | LURSRAZR(E—)BIANEZ 5% , K
1~ | FRIRFRE 2 IR R b,

O BRASHENELER , LURBLANRE (F—) #iZlh
&, K1~4IF , FEEARFERLEIE,

(BREZUiai=l: NUsEN e Sl

0 SRETENZANE BIRFHUMER ER2FURLAHMER.

Bix%%i508 / MOTOR INSTALLATION INSTRUCTIONS

* — DOERSIRELEOENEE
NALRY | RES.SBLZ SRS RE10.99RL X Hi XN 3RE12.0084 2 $i XA
1242 R~;
[mm] [Nm] [In-lbs] [Nm] [In-lbs] [Nm] [In-lbs]
M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19
M4 x 0.7P 3 3 27 4.1 37 4.9 44
M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038
* Z  ORSIRBLHENENGR
A A SikHE 124 R~t NAERST HEAD
[mm] [mm] [mm] [Nm] [In-Ibs]
B <12 M3 x 0.5P x 8L 2.5 2.1 19
FAB042
WLk <12 M3 x 0.5P x 8L 2.5 2.1 19
=2k <19 M4 x 0.7P x 12L 3 4.9 44
FABO60
WL <19 M4 x 0.7P x 12L 3 4.9 44
=R <24 M5 x 0.8P x 20L 4 9.8 87
FAB090
P <19 M4 x 0.7P x 12L 3 4.9 44
B <35 M8 x 1.25P x 30L 6 41 364
FAB115
WL <24 M5 x 0.8P x 20L 4 9.8 87
By <38 M10x 1.5P x 30L 8 80 709
FAB142
PUESS <35 M8 X 1.25P X 30L 6 41 364
B <50 M12 x1.75P x 35L 10 139 1232
FAB180
W <38 M10 x 1.5P x30L 8 80 709
B <55 M16 x 2P x 40L 14 343 3038
FAB220
WK <50 M12 x1.75P x 35L 10 139 1232

&1 BUPERANDLAAT LRE, EFFEN , AFHEANSEM EARNEZ20% , LIB#RITHE.



	FAB01
	FAB02
	FAB03
	FAB04
	FAB05
	FAB06
	FAB07

